Math 102 – Test 3 (Chapters 4 & 5) 
Name_______________

Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.

1.

Determine whether each sequence is arithmetic, geometric or neither.  If the sequence is arithmetic or geometric, find the formula.


(6 pts.)

2, 6, 18, 54, …
kind? ___________________
formula?
__________________


2, 6, 10, 14, …
kind? ___________________ 
formula?
__________________

2.
For the sequence 
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Make an input/output table for the first three stages.



(4 pts.)
	x
	0
	1
	2
	3

	y
	
	
	
	


3.
Rhoda invests $1000 in a savings account that earns 4% simple interest.  Find the formula that gives the amount in the account after t years.

(4 pts.)
4.
Tyra invests $1000 in a savings account that earns 4% interest that is compounded annually.  Find the formula that gives the amount in the account after t years. 
(4 pts.)

5.
a.
Write the following number in standard form.


(2 points)
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 = ______________________



b.
Write the following number in scientific notation format. 
(2 points)



45,100,000,000 = ______________________
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6.
Simplify each of the following expressions.  Write your answers without using negative exponents or decimals.  Box your final answers.


(3 points each)


a.
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e.
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7.
The speed of a radio signal is 300,000 kilometers per second.  The distance between the earth and the sun is 147,000,000 kilometers.  Find the approximate time in seconds for a radio signal to reach the sun.  Write your final answer in scientific notation with the coefficient rounded to two decimal places. 


(6 points)

8.
Solve the following problem using the four step problem solving process. Find two consecutive even integers such that the difference of three times the first and two times the second is 104.


(6 points)
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9.
Perform the indicated operations.  Simplify and box your final answer.
(4 points each)


a.
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b.
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10.
For the polynomial 
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, give


(4 points)


a.
the number of terms: __________


b.
the degree: __________


c.
the opposite ______________________________


d.
the value when 
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11.
Perform the indicated operations on the given polynomials.  Simplify and box your final answers.


(4 points each)


a
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b.
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12.
Factor these polynomials completely.


(4 points each)


a.
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b.
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c.
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d.
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13.
Find all of the positive integer values for 
[image: image20.wmf]D

 such that the following trinomials are factorable into the product of two binomials.


(4 points each)


a.
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_____________________


b.
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[24]


















_1301912573.unknown

_1333862091.unknown

_1333862462.unknown

_1333862519.unknown

_1333862558.unknown

_1333862218.unknown

_1333861770.unknown

_1333861793.unknown

_1319623825.unknown

_1288756882.unknown

_1288767083.unknown

_1301912551.unknown

_1288756907.unknown

_1288757014.unknown

_1288756898.unknown

_1288755176.unknown

_1288756839.unknown

_1288756862.unknown

_1288755692.unknown

_1286347437.unknown

_1286884233.unknown

_1286347409.unknown

